®aiin: YIIIM-125.14002J1 kar | Cocraryen: 28.11.2014 Jhucr 1 u3 2
f;eii Kon HaumenoBanue neranu XapakTepucTHKa Luli.-/];(:);;[‘
1 07.02.00.03.01 lafika kperuieHust mIMpKpyra 1
2 26.02.00.04.00 ®danen onopHkIi NIIMQKpyra 014 (1. criekaHue) 1
3 26.02.01.00.00 Kosxyx 3amuTHbIi B cOope @125 1
4 302.03.00.01.00 | Brynka ymioTHUTEIbHAs 1
5 00.02.04.01.02 Bunr M4x12 4
- 00.02.02.01.04 [aii0a npy>KuHHAS @4 4
6 302.03.01.01.00 Kprimika penyxropa 1
7 00.01.01.01.30 INoAMmUNHUK MapUKOBbIHA 6201RS (12x32x10) 1
8 26.03.00.01.00 Kppiika noamumnimka 1
9 00.02.04.05.03 Bunt M4x10 3
10 302.03.00.02.00 Inuanens 1
11 302.03.00.03.00 | Koseco 3y04aroe KOHHYECKOE Z=38 1
12 00.01.02.01.17 TToJIUITHUK POJIMKOBBIi HK0808 (8x12x8) 1
13 26.03.02.01.00 Koprmyc peaykropa 1
14 00.02.03.01.08 Bunr 4x25 4
15 26.03.02.05.00 Knonka ¢ukcaropa mnuHpgesns 1
16 26.03.02.04.00 [Mpy>xuHa ¢ukcaTopa mmuHIEIS 1
17 26.03.02.03.00 DukcaTop MIMUHJES 1
18 00.02.01.01.06 laiika M6 1
19 00.02.02.01.06 [aii0a npy>KuHHAS 76 1
20 26.04.02.03.00 [lecTepHst KOHUYECKAS Z=11 1
21 00.01.01.01.65 TToUIMITHUK IAPUKOBBIH 608-2RS (8x22x7) 1
22 26.03.02.06.00 Kosbo 1
23 26.03.02.02.00 Konsno cronopuoe 1
24 26.04.00.01.00 Huadparma 1
25 302.02.00.01.00 Kpsimika quadparMer 1
26 302.04.02.01.00 SIKOpb ¢ BEHTUIIATOPOM 035,1x55, 220V-240V,1400W 1
27 00.02.03.01.36 Bunt 4x70 2
28 00.01.01.01.25 TMoAMKMITHUK NIAPUKOBBII 607-2RS (7x19x6) 1
29 302.04.02.02.00 | Brysxka pe3uHOBas 1
30 302.04.02.03.00 Kosb110 MarauTHOE 1
31 302.04.01.00.00 Cratop B cbope @58,5x55, 220V-240V,1400W 1
32 302.05.00.01.00 Kopmyc nBuratens 1
33 00.02.03.01.02 Bunr 4x12 2
34 302.05.00.02.00 Kpsimika meTku jgeBast 1
35 00.02.03.01.25 Bunr 3x10 2
36 302.04.03.01.00 [etka aJekTpuueckas | 9x6x16 1
CaMOOTKJIIOYAIOIIASICSI
37 302.04.03.03.00 IeTkonepxarensb 2
38 302.04.03.02.00 [erka snexTpuyeckas 9x6x16 1
39 302.04.03.04.00 [MpyxuHa criupanbHast 2
40 302.05.00.03.00 Kpsimika merku npasas 1
41 302.05.00.04.00 | Pyuka nHaknajka 1
42 00.02.03.01.04 Bunr 4x16 4
43 302.04.04.00.00 Bnok anexTpoHHbII 1
44 00.10.01.01.08 BeikirouaTes b KEDU HY15B 12(10)A 1
250V~5E4

45 302.05.00.05.00 Knapuma BeikimrouaTesist 1
46 302.05.00.06.00 | Pyuxa 1
47 00.10.04.01.02 Konnencarop 0,22mMk® MEX GPF 40/85/21 1
48 26.05.00.05.00 [Tnanka ¢ukcanum muypa 1

NHTEPCK{ON

KarTastor 3armacHBIX YacTEH U3OAEITHUSI

AelcTBUATEAEH C:

28 HOABPA 2014r.

MAIIIUHA PYUHAY
SJIEKTPUYECKAS 1 2;?4{(1)\;)[5_3 1
[UJTMD®OBAJIBHAY VIJIOBAY




@aiin: YIIIM-125.14002J1 xar Cocrasnen- 28.11.2014 Jluct 2 u3 2
49 26.04.00.02.00 TpyOxka 3amuTHas 1
50 00.10.02.03.02 Inyp nuTaHus ¢ BUIKOM HO5RN-F 2x1,0mm2-2,3m 1
51 07.02.00.01.01 Kirou cnenmaabHbIH 1
52 07.02.00.02.01 Pyuxa GokoBast 1

NHTEPCK{ON

KarTastor 3armacHBIX YacTEH U3OAEITHUSI

AelcTBUATEAEH C:

28 HOABPA 2014r.

MAIIUHA PYUHAS
DJIEKTPUYECKAS 1 227/3(1)\(/{;3 1
JTM®OBAJILHAS VIJIOBAS




